Converting U.S Customary Capacity - Worksheet 3

U.S Liquid pints and cups

a.4ptocC= C b.4C= pt

d. 8 pt — C
c.14C = pt

f. 3 pt = C
e. 5 pt = C

h. 6 pt = C
g.8C= pt

j. 6 pt = C
i.10C = pt

.8C= pt
k. 1 pt = C

n.16 C = pt
m. 6 pt = C

p- 4 pt = C
0. 8 pt = C
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Converting U.S Customary Capacity - Worksheet 3 answers

U.S Liquid pints and cups

.4ptoC=8C

c.14C =7 pt

e. 5 pt =10C
g.8C=4pt
i.10C =5 pt

k. 1 pt =2C
m. 6 pt =12C
0.8pt =16C

b.4C=2pt

d.8pt =16C

f. 3 pt =6C

h.6pt =12C

j-6pt =12C

I.8C=4pt

n. 16 C =8 pt

p. 4 pt =8C
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